TR EERREBENLSSGEEARBEAEAIL S &
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BEE W o R AR R G 4 A 5H 6 H 7H 8 H 9 H 10H 11H 12H 1A 2 H 3 A O E L3 il
BEHNK 5, 592, 930 0.0] 5,592,930.0
1V U ALERY) 203, 684 0.0 203, 684. 0
TR - HRZH 108, 038 0.0 108, 038. 0
U JRALE G R 8,413 0.0 8,413.0
ALY 863 0.0 863.0
— M BEE B & F 5,913, 928 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 5,913,928.0
= Kk 7E e 978, 296 0.0 978, 296. 0
T K 7% e 351, 879 0.0 351, 879.0
kT oKk 7FH e E 1,330, 175 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 1,330,175.0
Rz % 155, 616 0.0 155, 616. 0
5 JE 2, 020, 672 0.0] 2,020,672.0
A 2, 435, 482 0.0 2,435,482.0
IFVW LA 57, 753 0.0 57,753.0
B4 1 3 BFEEwSE 285, 369 0.0 285, 369. 0
BETTAF v 1,218 0.0 1,218.0
4 A < 7T 0 0.0 0.0
& B < 7 0 0.0 0.0
77 A tgas <3 14, 602 0.0 14, 602. 0
A h X H 284, 504 0.0 284, 504. 0
B oE ¥ BEFEY G 5, 255, 216 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5,255,216.0
E¥ OB E W & 6, 585, 391 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 6,585 391.0
23 + 24 + 3,981, 348 0.0 3,981,348.0
s e + i 0 0.0 0.0
# i 16, 480, 667 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 16,480, 667.0
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e E B o B 5 BIEEERE] 47 5/ 6 71 8 1 9 A 10/ 11/ 12/ 1] 2 3 A O E H G
BT FGAF 28, 055 0.0 28, 055. 0
= A5 < T 1 0.0 1.0
& B < 7 388 0.0 388.0
H T Aligs <3 288, 800 0.0 288, 800. 0
A - | 4, 554, 847 0.0] 4,554,847.0
E¥ OB E W & 4,872, 091 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,872,091.0
e + 23 + 19,437,210] 21,092.2] 17,599. 2 38,691.4| 19,475,901. 4
s e k i 11, 089, 326 0.0] 11,089,326.0
i g 35,398, 627| 21,092.2] 17, 599. 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 38,691. 4| 35,437,318.4




